Texas State Judging Contest Test
Saturday May 7, 2011
1.  On a broiler breeder pullet and cockerel farm, birds are raised from hatchlings to approximately __ weeks of age and will replace older breeder flocks.
a. 8


b. 12 


c. 16 

 
d. 20 

2. The temperature of freshly laid egg is near ___ F. 

a. 90


b. 95


c.100 


d. 105
3. _____ refers to the birds structure or the shape and size of body parts relative to each other.
a. Relative Body shape    b. Body confirmation
  c. Handling Qualities
d. Breast Meat Quality
4. Hens that show signs of returning pigment are decreasing in egg production. Pigment returns to the body parts in the same order it faded, and returns _____ times quicker than it took to fade.   
a. 2


b. 3


c. 5


d. same amount of time
5. How many weeks does it take for a White Leghorn to completely bleach out all pigmentation from the shank?  
a. 5 to 8 weeks

b. 8 to 12 weeks

c. 12 to 20 weeks
d. 20 to 30 weeks
6. The body temperature of poultry ranges between __ and __ °C.

a. 37 and 39

b. 40 and 41 

c. 102 and 104

d. 105 and 107 

7. The genus and species name for a northern bobwhite quail is __.

a. Colinus virginianus       b. Phasianus colchicus  c. Coturnix coturnix
d. Numida meleagris
8. Poultry have a strong respiration rate with ___ exchanges per minute while at rest?

a. 8


b. 20 


c. 28


d. 50
9. The primary feathers of a bird are located on the outermost part of the wing beginning at the axial feather.  How many primary feathers does a White Leghorn have?  
a. 8 


b. 10


c. 12


d. 14
10. The ___ is highly developed in poultry and provides attachment for the heavy pectoral muscles.
a. Sternum

b. Patella

c. Clavicle

d. Humerous
11. Feather growth begins at approximately day __ of egg incubation.
a. 5


b. 9


c. 18


d. 20
12. ____ is not compatible with egg production because growing new feathers is a severe physiological drain on the bird.   
a. Sexual maturity
b. Breast meat yield
c. Feed consumption
d. Molting
13. The ____ is located at the juncture of the trachea and the two primary bronchi.
a. Syrinx 

b. Lungs

c. Pharynx

d. Bronchi
14. A(n) ____ contains an ovum surrounded by a vascular follicle membrane?
a. Mature follicle
b.Immature follicle 
c. Stigma

d. Ovary 

15. Which of the following diseases is classified as respiratory disease?
a. Marek’s

b. Mycoplasmosis

c. Coccidiosis

d. Cholera
16. In reference to a developing embryo, the upper layer of cells of an embryo with three cell layers is termed the ____.
a. Mesoderm

b. Ectoderm


c. Endoderm

d. Teraderm
17.  ____ is a process that converts one form of organic matter, such as dry poultry waste, into a more uniform and relatively odorless substance.  

a. Biogas Generators
   b. Composters
c. Anaerobic lagoons
d. Storage Ponds

18. When evaluating plumage condition in egg-type production hens, which of the following should be considered?
a. Feather appearance

b. Pigmentation

c. Width of hips

d. Size of Comb
19. The easiest and most cost-effective method of processing broiler litter to ensure microbial safety is by deep stacking the litter.  An internal temperature of ___ ºF must be reached to ensure microbial safety of the litter by destroying all potentially harmful organisms. 

a. 90


b. 130


c. 160


d. 190 

20. What is the grade of a ready to cook turkey carcass with one inch of exposed flesh on the breast, one wing missing completely, and a broken protruding rib bone?

a. A


b. B


c. C


d. No Grade

Use the following information to answer Questions 21 to 25.

A poultry operation has a broiler breeder flock of 17,350 hens which produced 101,407 total eggs over the course of a week long period of which 1018 were deemed unsettable due to checks and other defects. The company placed all of the settable eggs in an incubator and a total of 82,800 chicks hatched. Following hatch, a total of 4,139 eggs were found to be infertile. One percent of the total hatch was culled at the hatchery for humane reasons prior to placement and the remainder was placed in broiler houses for a 44 day grow out.  On day 44 of age, a total of 79,254 broilers with an average live weight of 5.7 lbs were loaded and transported to the processing plant. It was determined that the flock had a feed conversion during grow out of 1.82.  During the grow out period, each broiler defecated at a rate equal to its feed consumption.  The moisture content of the fecal material was determined to be 78%.  Following processing, the average carcass weight of this flock was 4.16 lbs with an average breast meat weight following deboning of 1.04 lbs. During processing, 198 carcasses were condemned and deemed unsellable. The profit margin that the company experienced was $0.05 per lb of carcass weight produced.   

21.  What is the hen day production level of this flock on a per day basis?

a. 79.4%

b. 83.5%

c. 86.2%

d. 87.3%
22. What is the livability rate for this flock of broilers?

a. 91.7%

b. 93.3%

c. 95.7%

d. 96.7%
23. What is the hatchability of settable fertile eggs set?

a. 81.65%

b. 85.12%

c. 86.03%

d. 91.4%

24. How much moisture associated with fecal material was input into the broiler house during grow out of this broiler flock?

a. 111,272.6 lbs

b. 352,363.3 lbs

c. 641,301.2 lbs

d. 822,181.0 lbs

25. What is the total profit for this flock of broilers?

a. $16,443.65

b. $16,484.83

c. $22,530.96

d. $22,587.39
